SKILLS PROBLEM-SOLVING
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Simplify:
a x3+x2 b x°+y7 ¢ XIxx:
d (,\'3)§ e (.\'-‘)5 f 3x%5 x4x90°
g 9xi = 3xs h 5x%+x3 1 3xtoc2xS
i VX xix k (Vx)} x (Vx)? 1 G
VX XV /X )
] v v 3
Evaluate, without using your calculator:
a 25 b 81 ¢ 273
d 47 e 9-: f (-5~
g (3)° h 12961 i (B)3
P @) k (9 NEIR
Simplify:
: i3 _ ) i i g dsd
a (64x10y p 2 \.52"\ ¢ (125x12y a= *\j“
2x + x2 4 ,\: 9x2—15x3 Sx + 3x2
¢ ! (9A ) 3 S T
a Find the value of 817. (1 mark)
b Simplify x(2x )%, (2 marks)
Given that y = %.\‘3, express each of the following in the form kx”, where k and » are constants.
4 },é (2 marks)
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b 5y~ (2 marks)



